
 

imvqb   Aa¨vq t 2q, 3q, 4_©, 5g 

c`v_© weÁvb  Aa¨vq t 2q, 3q, 4_©, 5g 

RxeweÁvb  Aa¨vq t 1g, 3q, 4_©, 8g 

evsjv‡`k I wek¦cwiPq  Aa¨vq t 1g, 9g, 10g, 11k 

weÁvb   Aa¨vq t 2q, 5g, 7g, 9g, 10g 

A_©bxwZ   Aa¨vq t 3q, 5g, 6ô 

evsjv‡`‡ki BwZnvm I wek¦mf¨Zv Aa¨vq t 2q, 3q, 5g, 7g, 10g, 11k 

f~‡Mvj I cwi‡ek  Aa¨vq t 1g, 3q, 10g 

wnmve weÁvb  Aa¨vq t 2q, 6ô, 9g, 10g 

e¨emvq D‡`¨vM  Aa¨vq t 4_©, 7g, 8g 

wdb¨vÝ I e¨vswKs  (wdb¨vÝ)  Aa¨vq t 3q, 4_©, 5g 

   (e¨vswKs) Aa¨vq  t 9g, 10g 

Mvn© ’̄¨ weÁvb   Aa¨vq t 4_©, 7g, 10g (cvV 1-4), 14k 

Bmjvg I •bwZK wkÿv 

1g Aa¨vq t cvV - 1, 4, 9, 10 

2q Aa¨vq         t cvV - 1, 2, 8, 9, 15 

3q Aa¨vq         t cvV - 1, 2, 4 

4_© Aa¨vq         t cvV - 1, 5, 9, 10 

5g Aa¨vq t cvV - 5, 7, 11 

wn› ỳag© I •bwZK wkÿv Aa¨vq t 1g, 3q, 5g, 8g, 9g 

‡eŠ×ag© I •bwZK wkÿv Aa¨vq t 5g, 6ô, 11k, 12k 

 

AvMÖvev` evwjKv we`¨vjq 

9g †kÖwY 

evwl©K cixÿvi cybwe©b¨vmK…Z cvV¨m~wP 

 

welq: evsjv cÖ_g cÎ 

(c~Y©gvb: 50) 

eûwbe©vPwbt               120=20 

m„Rbkxjt               103=30 

M`¨  t K) GKvË‡ii w`b¸wj  L) wbqwZ M) mvwn‡Z¨i iƒc I ixwZ 

 N) Avg AvuwUi †fucy  

c`¨ t K) †mB w`b GB gvV      L) Avkv  M) mvnmx Rbbx evsjv 

  N) †Zvgv‡K cvIqvi Rb¨, †n ¯̂vaxbZv   

mncvV t Dcb¨vm (m¤ú~Y©),    bvUK (m¤ú~Y©) 

 

welq: evsjv wØZxq cÎ 

(c~Y©gvb: 50) 

eûwbe©vPwbt               120=20 

iPbvg~jKt                        30 

e¨vKiY t cwi‡”Q` 21 †_‡K 27 

wecixZ kã t m¤ú~Y© 

mvigg© t 2, 6, 9 

mvivsk t 2, 6, 9 

fvem¤úªmviY t 9, 12, 13, 14, 15 

e¨emvwqK cÎ t 1, 2 

e¨w³MZ cÎ t 1, 2 

msev`cÎ t 1 

Aby‡”Q` t RvZxq msMxZ, †gvevBj †dvb, Z_¨ cÖhyw³, mZ¨evw`Zv 

cÖwZ‡e`b t K) e„ÿ‡ivcb welqK msev` cÖwZ‡e`b| 

   L) my›`i nv‡Zi †jLv cÖwZ‡hvwMZv welqK msev` cÖwZ‡e`b| 

M) †Zvgvi we`¨vj‡qi evwl©K weZK© cÖwZ‡hvwMZvi weeiY w`‡q cÖavb 

wkÿK eivei GKwU cÖwZ‡e`b iPbv Ki| 

N) †Zvgvi GjvKvq AvBb k„•Ljv cwiw ’̄wZi eY©bv w`‡q GKwU msev` 

cÖwZ‡e`b iPbv Ki| 



cÖeÜ iPbv t K) evsjv‡`‡ki dzUej  L) evsjv‡`‡ki cÖvK…wZK `y‡h©vM 

   M) A`g¨ AMÖhvÎvq evsjv‡`k N) evsjv‡`‡ki gyw³hy× 

 

Subject: English 1
st
 Paper 

Full Marks - 50 

Part A (Reading Test 30) 

Seen Passage (Q-1,2) 

 

1. MCQ (Seven)                 1 7 = 7 

2. Answering question (Five)              25 = 10 

3. Matching (Five)                  15 = 5 

4. Re-arrange (Eight)       18 =8 

Part B (Writing Test 20) 
5. Paragraph writing by answering questions (250 words)           10 

6. Dialogue                 10 

Course Plan 

A. Text Book: Unit 8,9 

Matching (Class Standard) 

Re-arrange (Class Standard) 

B. Paragraph: 

1) Visit to a Book fair  

2) The life of a farmer 

3) Our National Flag 

C. Dialogue : 

1) A dialogue between two friends about frequent road accident. 

2) A dialogue between father  and daughter about career. 

3) A dialogue between two friends about merits and demerits of 

using mobile phone. 

 

Subject: English 2
nd

 Paper 

Full Marks - 50 

 

Part A (Grammar Marks-30) 

1. Gap filling activities with clues (Ten)          0.510 = 5 

2. Right form of verbs            0.510 = 5 

3. Passage Narration       15= 5 

4. Completing Sentences (Five)      15 =5 

5. Use of suffix and prefix            0.510 =5 

6. Tag question (Five)       15 =5 

Part B (Composition Marks-20) 

7. Writing CV with cover letter (One)               8 

8. Composition writing (One)             12 

9.  A. Grammar:  

 i) Parts of speech    ii) Right form of verbs   iii) Narration    

 iv) Completing sentence parts  v) Suffix and Prefix   vi) tag question 

      B. CV writing : (Class Standard) 

      C. Composition: 

          i) Wonders of Modern Science  ii) Tree plantation. 

 

Z_¨ I †hvMv‡hvM cÖhyw³ 

(c~Y©gvb: 25) 

eûwbe©vPwbt               125=25 

Aa¨vq t 1g, 4_©, 5g 

 

[`ªóe¨t wb‡Pi mKj wel‡qi c~Y©gvb 50 

eûwbe©vPwbt               120=20 

m„Rbkxj cuvPwUi g‡a¨ wZbwUi DËi w`‡Z n‡e          103=30] 

 

welq: MwYZ 

exRMwYZ t Abykxjbx - 3.1, 3.2, 4.1, 4.2, 5.1, 5.2 

R¨vwgwZ  t Dccv`¨ (8g Aa¨vq - 17, 18, 19, 20, 23) 

    m¤úv`¨ (7g Aa¨vq - 1, 2, 3) 

wÎ‡KvYwgwZ t Abykxjbx - 9.1, 9.2 

cwiwgwZ  t 16.1, 16.2 

cwimsL¨vb t Mo, ga¨K I cÖPziK 

 

welq: D”PZi MwYZ 

exRMwYZ t Aa¨vq - 2q, 5g 

R¨vwgwZ  t Dccv`¨ (3, 4, 5) 

    m¤úv`¨ (1, 2, 3) 

wÎ‡KvYwgwZ t Abykxjbx - 8.2 

NbR¨vwgwZ t Abykxjbx 13 Gi (7-18) 

 


